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#include <stdio.h>
main()
{ .
int a, b, c, max; It (b = max) {
scanf(“%d”, & a); max = b;
scanf(“%d”, & b); }
scanf(“%d”, & c); It (¢ > max) {
max = a; [ebe = &
+
printf(“maximum = %d¥n”, max);
+




JA9SLDT7ATAT

A A= RIR—Y DL IREEL (£
EHERWNTF—LERDD)

RAODTEESR:

F—LA

%?EE%(?‘—L\A) &F— LB Q) % Bk
DFE>-ANF-LEEEESE
H-LETEEE (AFEB) EF—L

C D %t 8

Dol ANFELGEEESR

LEOF—LHHEIZSMLI-DT,

CED, EERDF v

HEF R TOEE
D

F—L

A
X

F—L

M




A=A VNOE

#include <stdio.h>
l ADNZEE a, b, ¢, max ’Eii"iﬁﬁ]

main() /

{

scanf(“%d”, & a);— ) k
scanf(“%d”, & b); L Z¥ alAnbd

scanf(“%od”, & c);
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max = b;
ks
If (c > max) {
. max = C; S>EEFVYEAE c 12T H

printf(“maximum = %d¥n”, max);
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#include <stdio.h>

main()

{
int 1, sum;
sum = 0;

for (I=1; I<=10; i++) {
sum = sum -+ I;

}

printf(“sum = %d¥n”, sum);




fel)RLDe5 “for” M EREA
P G =N bk X e o
421)5R LoD [E k|
T8 | OBRIID TR
[E#_CCETE

f@EURLARH BT LI,
i DEMNLT DOEZ S

sum —Sum +|
¥ \
AN

==Eer )= L
EhNf=aish
ﬁ‘x‘):&b%ﬁ

ND




JA9 5 LDE

RBEA(ZD1)

ZH sum

Z
O [CTtvhk

INt 1, sum;
IISIlJIrIT] I?l IOI;I IIIIIIIIIIIIII

: for (i=1; i<=10; i++) { -

3

sum = sum -+ I;
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prlntf( sum = %d¥n”, sum);
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sum = 0;
for (I=1; 1I<=10; 1++) {
sum = sum -+ I;
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#include <stdio.h> if (a>c){ ZRENDWeb
Lc = Lc + 1; §T9$L) .
main() } else { * #;E!_I\
{ La = La + 1; AL
int a, b, c, La, Lb, Lc; 1 \
scanf(“%d”, & a); if (b>¢) {
scanf(“%d”, & b); Lc = Lc + 1;
scanf(“%.d”, & c); } else {
La = 0; Lb = 0; Lc = 0; Lb = Lb + 1;
if (@ > b) { }
Lb =Lb + 1; printf(“rank of A = %d¥n”, La+1);
¥} else { printf(“rank of B = %d¥n”, Lb+1);
, La=La + 1; printf(“rank of C = %d¥n”, Lc+1);
by
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La, Lb, Lc [EFNFh,

#include <stdio.h>

r{nain() )/

int a, b, c, La, Lb, Lc; —=
scanf(“%d”, & a);

scanf(“%d”, & b);
scanf(“%d”, & c); /
La=0; Lb =0; Lc = 0;
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if (a>b) { —

Lb =Lb + 1;
} else {

La = La + 1;
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If (a>rc){
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Lle=Lle+1; ANEIH=D, BT HLaz1Eod
} else {

La = La + 1;
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} R [ & +#-+14%, %@%—A@]
printf(“rank of A = %d¥n”, La+1); 71278 %

printf(“rank of B = %d¥n”, Lb+1); ;/:

printf(“rank of C = %d¥n”, Lc+1);
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